S1: 600—800 GeV

SY: 800—1000 GeV

Yield 0yt 0O syst
V(y) 213 44 213
Y+jets 5 11 0.5
tt(y) 13 57 3.9
e— 7y 29 09 142
Diboson 7 28 2.1
Total 267 79 26.0
Data 281

S%: 1000—1300 GeV

Yield 0gat Osyst
V(y) 350 13 39
Y+jets 42 13 04
t(7) 35 09 1.1
e— 47 04 23
Diboson 54 3.0 1.6
Total 528 3.6 5.0
Data 65

Yield 0oyt 0O syst
V(v) 76.8 19 8.1
YHets 44 12 04
tt(y) 80 38 24
e — 7y 92 05 46
Diboson 19 17 0.6
Total 1002 47 97
Data 101

S}’: >1300 GeV

Yield 0Ogtat Osyst
V(y) 126 0.7 16
Y+ets 1.1 05 04
tt(y) 07 05 02
e — 1.5 02 08
Diboson 1.7 1.7 05
Total 176 20 19
Data 24



